& 1 (2000) AHSIH 2B 2 |25 8:(2310) = QXS4 SRJ| 7 Mg (2311) 82 SXE83 £4 e cHel: &2l
=2
Ol &b o4 pJ =
B2 HE AAE =
2000 - - -
ALS I ] 081 559,296 [= 191,557,946 & 68,101,837 JI 4,027,000 2 0 2 17,872,513]
QAC:%?EW, 081 559 296 [= 191,857,946 & 68,101,837 JI 4,027,000 2 0 = 17,872,513]
2310 - - - -
AOXEAIS =X RE 6.267.601 [= 0 & 6,234,029 O 0 2 0 =2 33,572]
2311
dE =X EF T4 4,311,045
100
BA0l L 656,802
110
o124l 41,546
101
el 2| 41,546
41,546 |08 JIEHX B4
HetH (THS)
23 2,806,900&X1&X128 = 33,683
=g
LIEN 30,0002 X12¥x128 = 360
SYIE 20,0008 X2 X128 = 480
== ] 130,000 X1&X128 = 1,560
G2 xl 155,000 X 12128 = 1,860
A2teI224¢ 2,806,900 X70%X0.5X1.5/226X30AI 2t X1 X128 = 2,348
Hel g sl 50,0000 X1 128 = 600
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& 1(2000) AHEI 4 2 H:(2300) AFEI 2 F 8:(2310) QX B40 SXIPRE Mg (2311) 62X 8 x4 [AFSIZ XD (S R)
i =
Of &b o4 &t = Il e
R HIE MM =
13,800 |04 RN SHYREXY|
309! 0I5t 350,000 X3H X128 = 12,600
501 0|3t 100,0008IX 1K BIX 128 = 1,200
204
X2 A| 223,980
24,000 |01 = 3L ET b
=3 600,000 X 12X 128 = 7,200
s 350,000 X4X 128 = 16,800
157,980 | 02 =22 EH|
43 400,0008X32X128 = 14,400
53 250,0002/X18%X 128 = 54,000
62 155,00024 x4 X128 = 44,640
72 140,000 X0 X128 = 33,600
8,93 105,00080X9 X128 = 11,340
42,000 |03 SHYP >SS
e & st 50,0002 X70X 128 = 42,000
301
UstEAg 122,754
120,000 |01 AFBIEHH 2512




& (2000)APBIOHEH I 2H:(2800) Al R & (2310) £ 2B =SXNIIYTE KIgH (2311 T ST8E 24 [AMSIS XD (29 ER)
i =
Of &b o4 &t = D ES
=28 K N =
olei2 0122 = 120,000
2,754 |09 BUILLABAZ
= 79,9502X1BX 128 = 960
=AYl 4,0002X12X2492 = 996
nEH| 2,0002X124X2492 = 498
I/ =yl 300,000¥IX1% = 300
307
DIIOI & 60,000
60,000 |02 SI2tH AR X
LAZAUEYD SIS = 40,000
YT ABIEXHE X = 20,000
200
ML, 848,000
220
XX AtS 848,000
207
o1 2Nl 80,000
80,000 |01 it
MEADZASIUE XIS +8 = 80,000
308
XX A S 01 = 468,000
468,000 |01 XXM AR xS
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& 1(2000) AHEI 4 2 H:(2300) AFEI 2 F 8:(2310) QX B40 SXIPRE Mg (2311) 62X 8 x4 [ASI=S XD (S &2
ni; =
Of &b o4 &t = D ES
R HIE MM =
SSXY 298 X - 108,000
We StartOt2 29 = 300,000
MBS E 2T = 60,000
403
XX EHR K= 0| & 300,000
300,000 |01 XXISHAIXHR B &
We StartOt2 XIHOISME =4 = 300,000
400
VEIEIS 2,806,243
420
DI Et 2,806,243
702
JI2HE3 2,806,243
2,806,243 |00 JI2™E2
AFEIZ X013
ABISTIHE = 1,500,000
COISHE = 900,000
ZOHOI= X H - 100,000
Mol &A1 S (HERYS) 306,242,645,06821X1/1,000 = 306,243
2312
ABI=X 24Tt 84 1,479,876
100
301l & 310,680




ZH:(2000) AFSIOHEHHI 2h:(2300) A2 2 &I &:(2310) =2 A=A SXJIERE Mg (2312) A 8IS X 21 |4 [AFBIS XD (e d @
ni; =
Of A+ oH &t £ Il =
&, 28 ME, MAlE =
120
da A 3| 310,680
201
2o A 5,400
5,400 |01 EH2AY|
A== X923 2Y = 5,400
307
g2Ietol & 305,280
305,280 |02 QI2tHAE X
TR AR SXAIESEAML SN = 233,280
At2| =S XI0LIHOI0 HE2 S = 72,000
200
AR Ol &F , 169,196
220
PADSIPN g , 169,196
308
AXIEHH S 01 & , 169,196
,169,196 |01 AUXHNBHEXLS
ANZ AMSISXAIESMI SX=E = 1,164,996
AR SALA AHEE It X2 = 4,200
2% 5t = [= 0 & 443,108 JI 0 0 = 33,572]
SXNAE 50 22 476,680 B - ’ = = ’
100
24 AFOJ AF 187.960 [= 0 & 154,388 DI 0 = 0 = 33,572]
2
%%E%HI 187.960 [= 0 & 154,388 DI 0 = 0 = 33,572]




&:(2000) AF3I 02 I 2+ (2300) AF 3| 2 =] 5:(2310) = QNS A9 EXD|R= M (2313)2XAIE S22 29X [ASIZX D] (S &e
ni: =
ol &b o A = pl =
X BB AIE MIAIE =
307
0I2t0| & 187,960
187,960 |02 QI2tAAE X
LATASIEXNE2E 2R = 55,000
A ERRE2 23 291K = 60,000
oATCHgy 21 = 25,000
ANSEXNTEHE 2 = 47,960
[= 0 = 14,388 DI 0o = 0 = 33,572]
200
AFS Ol A 288,720
220
KHRI AL 288,720
308
XX SHS0IH 288,720
288,720 |01 KX SHHBABEZ
ol ADAIE 29X = 144,720
A2 AlBI2XIE23 2YXHA = 144,000
2320
SEMATM A5 1,130,000
2321
BECH 84 - X 1,130,000
100
A0l A 40,000
120
A AY| 40,000




ZH:(2000) AFSIOHEHHI 2+:(2300) At 2 ZH & (2320)EEH LT 435t Hg:(2RNEEHH 84 - XA (At =X (9 &
ni; =
of & o & = 9] =
&, 28 ME, MAlE =
307
gIetol & 40,000
40,000 |02 QI2tH &S L
SSUY A THEAS KR = 40,000
200
AFEL O] & 1,090,000
220
AHHI A 1,090,000
402
QI =01 1,040,000
1,040,000 |01 @It pE22 =
HEEEE 2 A8 XN = 1,040,000
403
KX E A A= 01 S 50,000
50,000 |01 RtXISHMAZ2E L
Ay RIS HE K& = 50,000
2o [= 20,472,334 < 13,098,303 J| 4,027,000 =* 0 & 5,744,941]
HOHCI=EX AMEE sS4 43,342,578 - e - e e = = T
2331 .
KOOl HO|A|A BHE {129,640 [2 125400 & 851,880 D 0 2 0 2  152,360]
100
29 AOJ| AF 616.400 = 0 & 464,040 DI 0 = 0o = 152,360]
201
22| 20,000
10,000 |01 B+2AH|
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ZH:(2000) AFSIOHEHHI 2h:(2300) A2 2 &I & :(2330)HOHQU=R AlEHE 24 Mgt (2331)ZO0HQl HoAIE &tF [AtSIS X (et &)
i =
O &b oA &t = Il e
&, 2, 8 e MAE =
[= 0 & 79,240 DI 0 = 0 = 33,9601
HOAIE&X AESRH 29 = 46,000
[= 0 & 23,000 DI [ 23,000]
ZOHAIEAAEL X HEH 2 = 85,000
[= 0 & 59,500 DI [ 25,500]
HFOHCIEE N JEH 2 = 93,000
[= 0 & 65,100 JI s 27,900]
25,000 |04 QIZHSHALE X
ZOHITEECH=] = 25,000
200 -
403
KX E A AF=01 S 163,020
163,020 |01 K XISMA=E £
SOHE HO0HQ FEIHZALS = 163,020
= 125,400 &= 37,620 DI [ = 0]
220
KM A 350,220
308
AXIEHHI S 01 & 304,560
304,560 |01 KXISMEBAEELS
FolSHUHE MME X = 30,240
Jojeld 2 2= X3 = 47,520




42 (2000) A 31 JH 2 HI 2+ (2300) Ab3] 2 & H] 5:(2330) HOHOI=X AlME S4 KB (2331)ZO0HQ! BO|AlE &5 [AFSIZ X D] (S &2
ni; =
Ol &b oH At = | =
I BB KR S =
A IEXY 2HX = 113,400
AZEORQ THEXHME 29 = 113,400
403
Xt X S /I K= 0| & 45,660
45,660 |01 RIXICHHIKI=2E X
AMEZHE XA = 12,000
2ROl HAFS)| AX| = 33,660
2332 - _ : - _
OOl AU SHOLE XY EHK| 20,979,388 [2 17,872,094 & 2,958,386 O 0 = 0= 148,908]
g%mw 350 796 [=2 0 & 203,818 I = 0= 148,908]
g%&%ﬁm 350 796 [= 0 £ 203,818 DI = 0 & 148,908]
307
QI2+0| & 352,726
352,726 |02 RItAAIE X
AAT S| BHORAIL KIS (HHHHI, OIHE0IR) = 25,000
OHOIZIATEAIL 2 = 192,726
0= 57,818 DI = 0 & 134,908]
O A & ONOIDIAFE RO/ AFY = 35,000
[= 0 = 21,000 O = 0 & 14,000]
AZEE OOl O OFA}F U &R = 100,000
200
= =
A0l A 20626662 [2 17,872,004 & 2,754,568 O 0 2 0 = 0]




:(2000) AF 3] N H 2H:(2300) bS] 2 & Y| 8:(2330)&ONQIZX AME SA4 MIEH: (2332) ROHQIAHEHOL N QU T & K| & [AISI =2 XD (SHe: &
ni: =
of &b oA A = pl =
X BB AIE MIAIE =
210 - c .
5 X ALOd 00,396, 202 [2 17,872,094 & 2,524,108 7| 0 = 0 = 0]
307
0I2+0| & 91,935
91,935 |02 DIZAAE =X
LAAIEE| BHHAIE 2 = 91,935
(= 36,774 < 55,161 DI 0 & 0 = 0]
308
xS0 ® 18,765,697
18,765,697 |01 X XIESHHBAEEZ
ey B = = 16,065,573
=2 14,235,318 & 1,830,255 | 0 = 0 =2 0]
ZOHOtS UG = 556, 404
=2 493,016 & 63,388 O 0 = 0 =2 0]
ZOHol ol 2 Y| = 401,908
[=2 373,868 & 28,040 DI 0 = 0 =2 0]
ZHOHQ! XHASHH| X = 85,161
(=2 79,219 & 5,942 | 0 = 0 =2 0]
ZOHQl SZ= A CH = 5,395
(=2 4,150 & 1,245 J| 0 = 0 =2 0]
ZOHC! IHEEXI)|RDE = 36,378
(=2 33,840 & 2,538 0 = 0 =2 0]
ZOHQI = XL X2l X = 56,872
(= 43,748 13,124 7| 0 & 0 =2 0]
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Z$:(2000) Ak 4 2 bl +:(2300) A3l 2 FHI 5 (2330) R OjRI=X AlEE S4 MIBH:(2332) BOjQIMBOLY 2 XS  [ASSXD] (B9 8E)
ni; =
Of &b o4 &t = | =
&, 28 ME, MAlE =
ZOoHel FOTUXEEH SSOIA = 126,243
[= 97,110 &= 29,133 J| 0 0o = 0]
ZOHQl HENH S XA = 1,431,763
[= 1,291,536 &= 140,227 DI 0 0o = 0]
403
XX A =01 S 1,538,570
1,538,570 |01 XXM A= E X
AAMEANE &= = 1,538,570
[= 1,183,515 & 355,055 DI 0 = 0 = 0]
220
PADSIPNR 230,460
308
AR ESHMSO0IA 230,460
230,460 |01 AHXICSHMBAEELS
Hofelel=Hl XA = 30,000
MOPEOHel HA2H A = 35,700
=3 MILEMS! T2 ItAIE <0 = 63,000
ZOHQ! BOHAIZ (ZRAZBEE) K& = 29,700
ZOHe RS AAY = 61,200
ATHE AL HH&SHl X2 = 10,860
2339 5t = [= 2,354,840 & 8,820,137 JI 4,027,000 = 0 & 5,443,673]
ZoHel SEXAE =35 20,645,650 B e - T e = - P
100 B




:(2000) At o bl 2 (2300) Ab3| 2 & 5 (2330)HOHQI=R ANEE S HIE:(2333) 2012l SXIAE &5 [ALZI =X (Sl &)
ni; =
Gf &b oA &b = I =
&, 28 NE, AAE =
120 B
DdAI—I—ID:ltH 1 821 872 [E O T 1,094,038 j| O E’ O o 727,834]
307
o120l ™ 1,821,872
1,806,872 |02 2I12tF A S X
OB 2 SAAEZS = 31,200
Fojer=x2a 29 = 1,293,855
(=2 0 = 776,313 J| 0o = 0o = 517,542]
ZOHIMotsXMEH 249 = 89,217
= 0 = 26,765 | 0o = 0o = 62,452]
HOOI=2HESAIE 2Y = 130,800
= 0 & 78,480 DI 0 - 0 = 52,320]
Z0He SsHEINE 29 = 81,000
= 0 & 48,600 DI 0 - 0 = 32,400]
eI ESA 29 = 88,800
= 0 = 53,280 DI 0 - 0 = 35,520]
HAXNMA NS NEHYH 2 = 92,000
= 0 < 64,400 DI 0o - 0 = 27,600]
15,000 |04 QIZtSHALE =
ZOHCISXNAEEAL Ex0S = 15,000
200 .
AFS! Ol AF 18.823.778 [= 2,354,840 & 7,726,099 J| 4,027,000 = 0 & 4,715,839]
210
=2 < =2 2
2 XA 8.785.000 [=2 2,354,840 &= 2,403,160 2J| 4,027,000 = 0 = 0]
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Z}:(2000) AF3I I b 2+:(2300) A3] 2 & H| 5 (2330)RHOHQI=X AEE S4 KB (2333) OOl =XIAIL &5 [AFEISXI D] (S & e
i =
of &b o & e p) =
I 28 HE AIAE =
401
NELEEER L] 4,027,000
4,027,000 |01 Al&H|
JATHEHR 55 = 4,027,000
[= 0 = 0 Jl 4,027,000 = 0]
402
DI2tRH2 01 120,800
120,800 |01 QI2tX 22 =
ZONQIBTEAIL JIs2 = 120,800
[= 36,240 = 84,560 O = = 0]
403
Kb XI SR X2 0] & 4,637,200
4,637,200 |01 RIXISAI K22 =X
T MEAL D52 = 4,637,200
[2 2,318,600 & 2,318,600 I i = 0]
%%Wm 10.038.778 [= 0 & 5,322,939 O 0 2 0 2 4,715,839]
307
RI2b0| & 500,000
500,000 |05 2I29IES
ZRACTHE LY 2I2H = 500,000
308
XXX S0l & 8,838,778
8,838,778 | 01 XXX B AL E2

|
o1
|



ZH:(2000) AFSIOHEHHI 2t:(2300) Ab3l 2 & & (2330) HOHU=X ANEE 4 Mgt (2333)H0Hel SXAIE &5 [AFBIS XD (e d @
N 2
of &b of &t £ Dl e
&2 8 Mg MAE =
N&E SH3 Z20Y 2 - 20,400
ZoHe! BRZA 2Y - 146,880
HojRISTAIE ChHl 22012 K2 - 21,600
oI MBAIE AEREIRY N - 86,400
HHIZTAL BAR ASLDS X - 15,000
ZOHAUSXIAIE SAHR ol @/ H = = 18,000
ZOHAXN AL THEAIE 2SR = 747,207
S MBAE 2 = 7,783,291
[= 0 & 3,067,452 DI 0 = 0 & 4,715,839]
403
AXIEHA=01 700,000
700,000 |01 XEXIEHMIAtE 2
JoHISE=X2 &5 = 500,000
HOHRAR AN THEA L % - 200,000
2334 =
ZOHQIANE % ARSI & 01 SHCY 587,900 = 120000 = 467,90 J 0 = 0 = 0l
100
B 408 362,900
120
o534l 362,900
307
glztol & 362,900
216,000 |02 Sl2tAAME X




o o o o o o o o o o o o o o o o o
o o o o o o o O o o o o o o o o o
e e e 9 <« e L e 9 v ©u e 9o <9 v
Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il Il
K4
~
kil
_ =
~ I WH w Ko
u Y woD W T W oW mo
U = h W - 5 K ~ ©T © =T W™
< 2 %@@% WS M o KRR BB
i R = M R RO o4 B omos om Som
o 8 & ok floR S @ o8 o ’o5 R
T omo o om ., Al o & 3 a3 N~ B
= oy w3 o z W =z 0 = 5 g M F d
] O o »~ o I ® 5 o Jj 3 5 = = o o O
0 @ T 3 S Ul S 20 MﬂMﬂ@
o0 d 3 o 3 R B o3 oo o UWow U B R R
= ® 5 3 3 R M S 3 oW S P KN MR YW
R < R RO RO Y OO R R O® A R M0 O®OR W om0 <
<t
(]
o
o
ar 3
O
5
<
=
or
or
00
=
| =
REE
=
i
&
&0

17



(2000 MEIHEH] B (2300)ALSI 2T 8:(2330) HOHRIS T ABE S B (233) HOHRIA NS 2 ASIZOISTY  [ABISTIDH (B9 E2)
ot =
of  &F o &k £ Il =
B R ME KIS <
ZojHIRfHLE SHAD - 10,000
ZojolMEAE SEUEH = 15,000
Zojeloly Il - 20,000
2ATHATMA=I S HE = 5,000
2T ZOjSEUSH A = 4,000
200 o
A0l AF 295 000 [2 120,000 £ 105,000 O 0 2 0 = 0]
o el 133,500 [2 120,000 & 13,500 O 0 2 0 = 0]
308
XX EHHI S 01 & 133,500
133,500 |01 KX HZAEES
ClEZONe! AZFABIAIY (01 IIER) - 26,000
2 2000 = 6,000 DI 0 2 0 = 0]
ClEZON ABABDK(FA=TIR) = 107,500
[2 100,000 & 7,500 O 0 2 = 0]
220
X A 91,500
308
XX EHHI S 01 & 91,500
91,500 |01 XXM AL EES
Zojolestsorel 2SN = 9,000
SFoBUIESEA - 15,000




& 1(2000) AFSI H 2] 21 (2300) P8I 2 & 5:(2330) BOHQISX AIEE S4 HIg: (2334) B OROIADNS 2 AISIZGIZITH  [ALEISXIDH] (SH9: &)
ni; =
Of &b o &t = | =
BB E HEHAE =
OHOIS4sm(644) X = 60,000
ZOHQIBHEH NS X = 7,500
2340 - _ -
SIotEl LM B 59,027 504 [= 29,519,570 & 17,413,934 D V! 0 £ 12,094,000]
2341 = c =
ColaTie HED ASux 6.704.993 [= 5,061,119 & 1,643,874 DI V! 0 = 0]
gg*mw 18,000 [= 9,000 & 9,000 DI 0 2 0 = 0]
L}&H, 18,000 [= 9,000 & 9,000 DI ! 0 = 0]
101
o148 18,000
18,000 | 10 L AIAt Q122
ANEFEol2l 011y = 18,000
9,000 & 9,000 DI a = 0]
200 - -
A0 At 6.686.993 5,052,119 & 1,634,874 J| z = 0]
QOEMM 6.586.993 5,052,119 & 1,534,874 J| z = 0]
307
DI2IO| & 123,538
123,538 2%
stersl Jf A
61,769 & 61,769 O a = 0]
308
XX S S 01 & 6,463,455
6,463,455 |01 XXISH B A BES




& (2000) AF2I O EHHI 2 (2300) Ab3| 2 & &h:(2340)H2Us CSME YA Mg (2341) ol xiel &l ASEE [AFSIEX D] (S HE)
ot =
Ol &b oH At = | =
28 NIE, MAIE =
Coldxiel(B)AIE X = 6,383,455
[Z 4,910,350 = 1,473,105 DI 0 & 0 = 0]
SOIATRIZI(AILIVEY) 24 = 80,000
[= 80,000 &= 0 2l 0 & 0 = 0]
220
AR A 100,000
403
AXISH 201 H 100,000
100,000 |01 KIXISHHI K28 &
oSS HEHEE & = 100,000
2342 - C <
Lol o2 . 2XAlL BE 07.995.293 [=2 10,062,368 = 5,838,925 DI 0 0 2 12,094,000]
100
A0l A 18,000
120
R PNESEE ] 18,000
201
2 B2 A H| 2,000
2,000 |01 LErEHH|
COISAIAIE SALA A3 = 2,000
301
autg A2 16,000
16,000 | 10 SHAIAHIE A=
OISXIAIE SAIAH H2G = 16,000
3\?9’*01“* 57 977 293 = 10,062,368 &= 5,820,925 I 0 0 2 12,094,000]
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: (2000) Ab3I K2 H] 2+ (2300) Ab3] 2 & H] 55:(2340) 22U LEME B Mg (2342) =01 9|2 - 2XAL &= [AFSIZ X D] (S &2
nj; =
Ol &b oH At = p) =
I BB KR S =
210 - _ _
o ALY 13306990 [2 10,062,368 &= 3,264,622 O 0 2 0 = 0]
308
X X SR S 01 & 2,723,756
2,723,756 |01 KIXISHBAEES
LolE=0l XY - 1,945,022
[2 1,657,566 & 287,456 O 0 0= 0]
LOIAHIAIY 24 022 X = 778,734
[2 641,310 & 137,424 7| 0 0= 0]
403
Xt X S /I K= 0| & 10,603,234
10,603,234 | 01 XIXISHHI A= 2 =
Lol=XAlL & = 9,693,234
[2 6,853,492 & 2,839,742 O 0 2 = 0]
AN S (BIR 2, g4BY) XK = 910,000
2 910,000 & 0 2l 0 2 = 0]
220 .
T RIAS 14650 303 2 0 £ 2,556,303 DI 0 2 0 £ 12,094,000]
308
X X SR S 01 & 14,400,303
14,400,303 |01 XIXISH B AL E2
LOIS XAl BAK aHelois = 27,000
LoIZTAlY 29 = 14,373,303
[= 0 £ 2,279,303 I = 0 & 12,094,000]




2 - SXIAl

ol

oJ
H

1(2342)

Ay

[a] o (@] (@] (@] o (@]
(e} o (@] [aN] o () o
O o o] (@) (@] (@) ()
o — o < o N ol
% — (ep)]
(@]
I I} I I I} I I
0
K4 o
]
~ o
m
il 9
2 2
> H
o - il
= w)
u 0 mu <l =
0] o = i
. 2l o R4 5 i <+
< SIS I a A0 Bl
ol © o o oK N o4
= K H = < N ol T ©
20| _om ma 8] =l = H % =
= D= = D H
_ T om Bowmowm oHyom M =
A W o oz o % ° ol 3l
R 25 M o8 ol X Mo
< A oy ®m H H W R ol 1y
— — al N~
(e} (@] (@] ()
o o (e 0] o o o o o (@] o
o o — o o Al Al o [ee] o
ar S S N e 8 & ® S S S
(@] (@] N~ D (@] < (V] Al (@)} [V}
| 8 B § g g B « ©
<] M,
=
_
=
olr Ik - o no
aik ﬂ 30 <0
£ o 0b ™
bl <] 3 5
o S= %0 -2 52
< < ol & ol & oll
i
0 .
= =
| KO b=
~ a& .E < 10
= ol = Rr
. 20| 3|
i 21 87 S0
Al & A
%0

22



Il

A

(==}

gl

3,000

o
Ao
i
<]
H

R3
il
Kl
o

R0

1,080

o}

3,000

il

<l
E]

<A

ok

X
1o

-

o

Ol

ol
H

6,000

Kl

HHole &AL =

35,000
5,000

HHAEE

2|

fus

Ab XI&

SH

(==}

4§9| i'él»

2
S

[

14

14,396,083 &= 9,821,235 DI
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Z+:(2000) AtS] OHE 2 (2300) At 3 2 & 8 (2340)HLs EME EF Mg (2343) = F MBS ALS| 20 &HH (At =X (9 &
ni; =
Of &b o &t = | ES
a2 8 NE MAE =
LOIZES M (BEY BFRH B32) = 24,300
Lolgy &4 = 192,000
2350 - - o
2351

Sulm Tel . NE XS 157 935 613 [2 141,566,042 & 16,369,571 D 0 0 = 0]

i?& 0] AF 157 935 613 [= 141,566,042 < 16,369,571 DI 0 = 0o = 0]

ggEMO* 157 435.613 [= 141,566,042 & 15,869,571 DI 0o - 0 = 0]

308
AP R=5 E=T0 RS 157,364,809
157,364,809 |01 AXHUNBAEELS

I =M S (MA - NS - =HSH) = 136,444,362

[= 121,950,644 & 14,493,718 J| 0 = 0 = 0]
NHEASZH = 763,777

= 710,490 = 53,287 DI 0 = 0 = 0]
rar=1—DAPDNL.! = 2,019,142

[= 1,878,272 & 140,870 DI 0 = 0o = 0]
JtAtE S 2 =0 = 4,200,000

[= 4,200,000 & 0 Jl 0 - 0o = 0]
A=Al 22 = 1,609,723

[= 1,609,723 & 0 Jl 0o - 0o = 0]
MIESEZ)HR2Y = 73,746

= 68,601 &£ 5,145 DI 0o - 0 = 0]




ZH:(2000) AFSIOHEHHI 2h:(2300) A2 2 &I 8 :(2350) =2 DI ZMEERHE 29 Mg :(2351) 8= Xte - K& X [AFBIS XD (S E &)
i =
Of &b o4 &t = p) =
&, 2, 8 e MAE =
SHOANEZH = 1,294,409
[= 906,086 = 388,323 I 0 = 0 = 0]
AEZZ2 A = 10,959,650
[= 10,195,023 &= 764,627 Dl 0 = 0 = 0]
403
XX A =01 S 70,804
70,804 |01 AHXIE X Xt=
SEOANE JIsEY = 70,804
[= 47,2038 < 23,601 7l 0 = 0 = 0]
220
KA A 500,000
308
IXIEH SO0l A 500,000
500,000 |01 XAXSHMB&EEELS
et BI2AS K& = 500,000
2352
MNASSXNEL HFH=XAE 856,000
100
a0 At 205,000
120
a8 205,000
201
22| 1,500
1,500 |01 LBH2AH|
NEAMIEI A=Y = 1,500
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ZH:(2000) AFSIOHEHHI 2+:(2300) At 2 ZH &:(2350) =D ZHEERNE 2 Mg (2352) MASEXE N BHSXAE [AFBIS XD (S E &)
at =
off Ao ar & pJ =
=28 M AN <
621,000 |01 XbXIEHRIAH2 2 X
ZYS=NE 2 HY = 300,000
SEABIS X2 JIS22(3HA) = 57,000
HASE @42l N = 240,000
SN AIRATRI| 25 - 24,000
2353
eSS 13,000,000
400
GEIERS 13,000,000
420
Ol Et 13,000,000
701
SCEESEE 13,000,000
13,000,000 |00 JIEHSI H N &2
opEsIZEL N HES = 13,000,000
2 N g A 281,559,296




